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@ (2x+2y)(3x +y) = 6x2 + 8xy + 2y2

@ (2x-2y)(3x +y) = 6x% — 4xy - 2y
@(2x +2y)(3x —y) = 6x° + dxy - 2y°
@ (3x+2y)(2x-y) = 622 + xy = 2

® (3x—2y)(2x +y) = 6x2 — xy — 2y?
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D 5x% - 3xy - 5y? @ 5x + 10xy — 5y?
® 6x% - 3xy — 5y? (@)6x2 + 7xy — 5y?

® 6x2 + 10xy — 5y°

(2x - y)(3x + 5y)
= 6x% + 10xy + (-3xy) + (-5?)
= 6x% + Txy — 5y?
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2x X x + 2x x (=3y) + 5y X x + 5y X (=3y)
= 2x? + (=6xy) + bxy + (=15y%)

= 2x% — xy — 15y?

whebA xy o] Alg= 100
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. ab = 4a®> = 36
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14. (3x+2a)?> =9x* + bx+ 16 & ©, ab O] 27 (D, a, b= 4)

@ 16 @ 22 ® 36 @ 42 ()48

B

(3x + 2a)? = 9x% + 12ax + (2a)? °|B&2
9x% 4 12ax + 4a®> = 9x% + bx + 16
12a=0b, a®> =4

ooab =124 =48
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@) (x-y)? @ (x+y)? ® —(x—y)?
@ —(x+y)? ® (-x-y)?

~&B

(—x+y)? = x> - 2xy +y*

@ (x-y)* =x*-2xy +y?

@ (x+y)?=x"+2xy+)°

@ —(x-y)? = -2+ 2xy - y?

@ —(x+y)? = -2 -2xy-y*

® (—x-y)? =2 +20+y* (-x+y)* = (=(x-y)* = (x-y)?
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(et ) = =2 — = 2
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~&B

(=3x+4)(5x — 6)

={(-3) x5} x% + {(-3x—=6) + (4 x5)} x+4 x (-6)

= —15x2 4+ 38x — 24

=ax®>+bx+c

W2t g = -15, b=138, c = —24 ©|B2 g+ b — ¢ = 47 °|t}.




18. (2x-8)(3x + 7)2 ZIH5HH 6x2 — (3a + 1)x — 4b ©]t}. o]uf, A==
a, b2l & a+b o 27

@ 13 @ 15 @17 @ 18 ® 20

B

(2x - 8)(3x + 7) = 6x% — 10x — 56
=6x2 — (3a+ 1)x — 4b ©]t},

W2t 3a+1=10, 3¢a=9, a=3,

—56 = —4b, b =14 9|2l a + b = 17 ©|t}.




19. (5x+a)(bx+4) & AN Aol -15x% +ex+8 L W, &5 a, b, ¢
of 5t a + b — ¢ 9] FL-S oot

>

> =g -15

B ~
(5x + a)(bx + 4) = 5bx* + (20 + ab)x + 4a

5bx% + (20 + ab)x + 4a = —15x? + cx + 8

4a=28, .a=2

5b = -15, ..b=-3

20 +ab=20+2x(-3)=20-6=14, ~.c=14
La=2,b=-3,c=14

Sa+b—-c=-15
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(x+a)(x+5)=x%+ (a+5)x+5a 7t x2 + bx— 15 0| B2
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24. (x+a)(x-5)=x*+bx+15 4 W, q, b O] F2?

@® a=-8, b=-8 @ a=-8, b=-5
(@)az—S,bz—S @ a=3,b=5
® a=3,b=-5

(x+a)(x=5)=x2+ (a-5)x—5a=x*+bx+ 15
2t a-5=b, —5a=159|B2 g=-3, b = -8 o|t}.
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(x=7)(5x+a) = 5x%* + (a - 35)x - Ta
x & A7F -30 o] B &2

a—35=-30

La=2>5
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29. A% a, b, ¢ o A5t (5x + a)(bx + 6) = 10x* + cx — 54 & o,
a+b+c 9 & ool

>

> ®Me: 5

(5x + a)(bx + 6) = 5bx* + (30 + ab)x + 6a
5bx? + (30 + ab)x + 6a = 10x? + cx — 54

5b = 10 Lob=2
6a = —54 Soa=-9
304+ab=c, (30—18) =12 Soe=12

ca+b+c=-9+2+12=5




30. (3x-2)(Tx+1) = AT 2129

- i 1 .

D 21x% +11x-2 @ 21x2+9x+2

@ 21x%2 +21x-11 @21x2 —11x-2

® 21x2-11x-21

(Bx=2)(Tx+1) = (3X7)x? +{3Xx 1+ (-2) x Thx+ (-2) x 1
21x% —11x -2
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1 1 1
@-g ®_6 @—g @ 2

e At 2x g+ (3 ) x4= oIk




32. (2x+1)(5x+A) =10x*> + Bx-2 & W, A+ B 9] 312?

@ -10 @ -5 @—1 @ 1 ® 5

(2x + 1)(5x + A) = 10x> + Bx — 294 Ax 1 = -2, TetA
A=-2,B=2A+5=10°]t},
L A+B=-1




33. (5x-6)(4x + 3) FA/NSHH 20x% — (2a + 1)x — 3b o]}, o|uf, A==
a, b2l & a+b o 27

@5 @10 ® 12 @ 18 ® 30

B ~

(5x — 6)(4x + 3) = 20x% — 9x — 18

=20x? - (2a+ 1)x—3b
Wt 2a+1 =9, 2a =8, a =4, -18 = -3b, b = 6 °|1L
a+b =10 °|t}.




34. (5x-6)(4x+ 3) = AT 422

D 20x% +2x-18 @ 20x® +4x-18

® 20x% +6x—18 @ 20x% -9x+ 18

@20)62 -9x-18

(5x—6)(4x+3) = (5><4)x2+{5><3+ (=6) x 4}x + (—=6) x 3 =
20x% —9x — 18




